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SOLUTII:	
  1b;	
  2a;	
  3d;	
  4b;	
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  din	
  Instituții,	
  Curs	
  5	
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  de	
  autoevaluare	
  
	
  

1.	
  	
  Când	
  copiii	
  au	
  un	
  tipar	
  de	
  comportament	
  indiferent,	
  aceștia	
  incearcă	
  să:	
  

a) să	
  se	
  comporte	
  ca	
  adulți	
  in	
  prezența	
  prietenilor	
  
b) fie	
  proprii	
  părinți	
  
c) fie	
  mai	
  copilăroși	
  decât	
  sunt	
  in	
  realitate	
  cu	
  asistenții	
  
d) fie	
  mai	
  copilăroși	
  decât	
  sunt	
  in	
  realitate	
  cu	
  prietenii	
  

	
  

2.	
  	
  	
  Sentimentul	
  de	
  atașare	
  reflectă:	
  

a) relația	
  cu	
  primii	
  asistenți	
  maternali	
  
b) personalitatea	
  copilului	
  
c) atitudinea	
  copilului	
  față	
  de	
  prieteni	
  
d) personalitatea	
  moștenită	
  de	
  copil	
  de	
  la	
  părinții	
  lui	
  reali.	
  

	
  

3.	
  	
  	
  Sentimentul	
  de	
  indiferență	
  apare	
  când:	
  

a) asistentul	
  arată	
  prea	
  multă	
  afecțiune	
  copilului	
  
b) asistentul	
  este	
  foarte	
  ușor	
  de	
  manipulat	
  
c) a	
  și	
  b	
  
d) niciun	
  răspuns	
  

4.	
  	
  	
  Dacă	
  copilul	
  are	
  parte	
  de	
  prea	
  multe	
  schimbări	
  de	
  asistenți	
  	
  atunci	
  aceștia:	
  

a) u	
  sentimente	
  de	
  atașare	
  
b) se	
  simt	
  nesiguri	
  sau	
  prezintă	
  un	
  comportament	
  rece	
  
c) un	
  comportament	
  normal	
  față	
  de	
  obiecte	
  sau	
  numai	
  faţă	
  de	
  activităţi	
  
d) un	
  comportament	
  normal	
  față	
  de	
  adulții	
  care	
  nu	
  sunt	
  asistenți	
  

5.	
  	
  	
  	
  Copii	
  care	
  au	
  model	
  comportamental	
  	
  evitant,	
  invață	
  să-­‐și	
  infrâneze	
  nevoile	
  pe	
  care	
  asistentul	
  i	
  le	
  	
  
	
  	
  	
  	
  	
  	
  	
  oferă	
  prin:	
  

a) legarea	
  de	
  prietenii	
  cu	
  diverși	
  
b) sentimentul	
  de	
  atașare	
  excesivă	
  față	
  de	
  un	
  asistent	
  
c) atașarea	
  excesiva	
  de	
  obiecte	
  si	
  activități	
  
d) toate	
  răspunsurile	
  sunt	
  corecte.	
  


